MATH 1530 Homwiork &

6] I
Conatraing » X+ (R
e T B
A Px X JxEta
Mimmize ime = T = P-x + 4
2 1
/ \

Hme to rum P-x

Pand Q art constants

T

3
4

1]

time [o sum iﬂ melers

maers at 2mfs at Lmls
T':. "";g' - ,}.i, + JKLTQL
e Z )
differentiare using chaiv vule-
Let u=lomgs, t=a"+Q°
u=t*® dt = 9«
du - gt M
dt
(i{:'i_: %ﬁ %{; = Kt’t = ){
dx  Ar oK JXTRO
dr. O-73 ¢ £ .5
X XHQ*
X - L
e U
Xt 1
PR Y
LxT = XEQT
TEENCE
Xt &
3
X = &
3

The l%\ﬂ"agauwfd should run Pm% meters  then
5 )

}ump i




2) Let Ftx) be contindous on Lo.B] and let AKX iq Py de

! S .d. ¢ i [ &
Then ey 4 Sa?m dt = F).
Let T be wnnnuous on [a. o] and et Fix) be an
antiderivatve of fixyon @bl They Yf Py dy = Fli) - F(a)

) Alx) s \ 26t 2 de

LxF-K-21 > 0O

(2Zx -} (x+3) = O

x=L x=-3,

AH{X) - h{‘i

A“(ED; Lg,@}'"i*‘- A>»0 90 )‘('—?{ 5 a feccai mim

AT(3)= 402 -1 = ~13<0 30 x=-3 i g l@ﬁai qu
Niar L (O g, IR

¥) Let y ‘L, T o+ ¥ dy

TR gt e de

Let v=osex a0 gjﬂj‘q
(FTCLY

OIV 2 LI d q= N Q,V'q_
Yoo -eseiol - Eo-sintv 1 e
A g% v
C,J;gar dv - (i - a1t (ea) rf,z'““""l*)(;csuwt&}
(5\- (X
| I
b1 .31 %
3]
2

& ] -
Y, 2 ~Fxrdx = | Ttan(ix) ¥ 2ix
5) { s T “Hdx = [Han2x) £ 3]

X5 I : :
BUT e (28) 1 | BUT von {2-8) zs!
| undchned

undehned |




0 [
( hx (inx)? g -
u:iﬂx fx:) d
.H:L -
a} /‘ =% Xduzd‘
X

—g 3 x Ay

Lx U3
3 é—} U3 du
- % ’LA”Z + C

it

I

i

- L
E(n) T+ C




